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SN HRD
M. ZHGtD EHs HAE 29
Chel: ZXGD EYE NERY (982
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES Ol & Omncm Hns2
TSt 3,254,490 6,117,827 A2,863,337
ZHGD EUE MAME =29 566,074 464,248 101,826
Mol SHE ME2H 450,134 369,556 80,578
OLE Ol XHMER2H 171,057 126,174 44,883
101 Q14 7,200 5,877 1,323
10 JIZH22XUHEES 7,200 5,877 1,323
OXEMASHAMMESH INZHIZ SO
g 34,6102 = 501  38.16Y 6,604
ongsgsaz 6,576,0002 * 0.0135 89
OAHUEEZ 6,576,000& * 0.024 158
ONTHEE 2 6,576,000 * 0.008 53
o204z 6,576,0009 * 0.045 296
201 LEr2HH| 98,900 78,210 20,690
01 AtR22IH] 49,560 34,960 14,600
Of Let2H| | 49,560
OXZAN INHELREHIIE HME
60,0002 = 1304 * 73] 5,460
OXIYAH ZEOHYZ} &2t
5,0008 * 2,0008 10,000
OXNYNEeEAZI2HIEH Y 9,900
oxN= 1,000,000 * 63| 6,000
00CR Z2IH 300,000 * 404 * 23] 2,400
0 SHHOCRE2IH 300,000 * 5CH 1,500
OXYAN 2XM E X 18,200
o NIZAHIEIIZ20CRLK A (2ER)
64,0008 * 258t A x 43 6,400
o KIZHAl EMOCRIXM(EEE)
50,0002 » 402tA » 5F 10,000
o KIEN SRt BAZI] R
50,0002 * 36EtA 1,800
OXI Al oty 5,000,000 * 1Al 5,000
OJI&AHZ 0|8 22 1002 * 10,0004 1,000
02 2229 49,340 43,250 6,090
Oola222 ¥ HAl 33,600
OXYAN DXAN U 2EZ2 33,600




2AM: R
d: SHOtLD EYst MAE 29
¢ SHStD EYE NE2IE (&2 &2
S EB . (BH) - MRAY - Ha2 Aol a4 HRZ2
x=pI 1,750& * 8,000 14,000
o gt 2503 = 70,000H 17,500
otz 1,750& * 1008 ~ 12& 2,100
O[AI& EHISXIdl] 15,740
Ox1x Zelf)] RANNEx
120,000& * 12& 1,440
OXIEA OCREZIH SXE%
300,000& * 3CH 900
OXEYAN S&I B2+
300,000& * 12& 3,600
OXNYAN SeEAS T ZTEIHI)|
2 WA 9,800
oCI¥=ZIH 500,000& = 14 500
oUI¥ZH |UE 2,200,000& * 14l 2,200
o =t= 1,800,000& * 23| 3,600
o3cld RUE 1,800,000& * 14 1,800
0HEIZIRLIE 1,700,000& = 14 1,700
202  O4Hl 10,822 9,862 960
01 =UWodl 10,822 9,862 960
OHMNSEAL ER2FX 5,500
o2l 50,000& = 1121 = 10 5,500
OXNYHARSEANH 2 8H LSRR
& (H23]) 60,2753 * 200! * 2 * 23| 4,822
OMEAZ & BSURM ESER
50,000& = 121 %= 10! 500
203 HRFZH| 12,600 14,000 A 1,400
03 AIMFXHIFZAH| 12,600 14,000 A 1,400
OX=THE SSAMYR=EH|
12,600,000 * 14 12,600
207 A FIHEHI 14,000 0 14,000
02 & AR EHH| 14,000 0 14,000
OXEYH fH=E S22 AIAE 2=
14,000,000& * 14! 14,000
301 LetEa3a 5,000 5,000 0
10 SHAIAHIBAZ 5,000 5,000 0
OXNZLAN S SSAH(EUIADHAL)
20,000& * 250021 * 13 5,000




A TR
M. ZHGtD EHs HAE 8¢9
CHol: RGN SE HMELS (Er9): &2
S HB . C(SH) - MBEAY - B Ao dd = 2t
O &t o4
403 AXSHHSA20IH 22,535 13,225 9,310
02 ZIIZSOCHSHOHE AFS HI 22,535 13,225 9,310
OE=XNENEEAAE SAE L
15,500,000& * 14! 15,500
OXNEAM XNESHMHE ASHE
5,435,000& * 14 5,435
OSESNBEHNEBAAE SAE
1,600,000& * 14l 1,600
NeA d+2 M1 145,175 130,475 14,700
201 2Bt2Ad| 68,175 53,475 14,700
01 A2l 41,210 36,640 4,570
OlgetE24|] 41,210
OXNEEMNSEDANANFL (LB
50,000& = 408fA 2,000
OXNENMESEDXNANFTL(2E)
60,0008 = 408fA 2,400
OXNEA MM =5 MoK
60,000 = 108fA 600
oMY Y SRS
91,000& = 1000 = 43| 3,640
OXNYA HEXZ20=x=2
70,000& * 20021 14,000
ORSMUARSIIESL4E
2,000 = 1,50021 3,000
OXYN&LUBIHESEE
500,000,000& * 1.6% 8,000
OXNEA MYX HaHEXS=Z
2,000& = 2,750 5,500
OXNEAN XNSOIM ==
50& = 15,0004 750
onEsdBXINS4E2
110,000& = 12& 1,320
02 22294 26,965 16,835 10,130
O[2Z22=2 ¥ HAI 26,125
ONYHSEY ZE2H2(L)
2502 = 30,000+ 7,500
OXNENSEE EE52H2(SD])
1,750& * 10,000A4 17,500
O3l &€ ME=HSE0 12
1,750& = 30021 525
OXNEA HE=sH SUHE 22
50,000& = 12& 600




2A: MW
. Z3FGID EYs HAME 22
CHel: ZHOID EWHE MERY (ctel- e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol & Om/?OH Hns
O[AI&Z&Hl £XIdl] 840
OMYEX3I| RAE=HI 70,000& ~ 12& 840
303 IZAZ 7,000 7,000 0
01 ZAa2 7,000 7,000 0
O'OBXIEMAEXRA-SH Al&tZ 7,000
Oz 2,000,000& * 1™ 2,000
2 = 1,500,000& » 259 3,000
o& o 1,000,000 » 28O 2,000
401 AIEHIZL204b] 70,000 70,000 0
01 Al&HI 70,000 70,000 0
O0BRIAl &L 2E5H AAISH| 70,000
Oxl=2= 20,000,000& ~ 1™ 20,000
o = 15,000,000& ~ 2™ 30,000
o& ¢ 10,000,000& * 2™ 20,000
YA Mo+ T208 29 12,000 10,000 2,000
201 B2 | 1,000 0 1,000
01 AtR22id] 1,000 0 1,000
O[det+=&Hl] 1,000
OMeE=g DXAM P
50,000 * 20Ef A 1,000
403 XXM SA201H 11,000 10,000 1,000
02 I/ 2S0ICHSHCHEH AF HI 11,000 10,000 1,000
OHI$UBBAIAE X2 2H|
11,000,000& * 14! 11,000
ANeH HE st 121,902 102,907 18,995
101 2l | 19,382 16,978 2,404
10 JIZHZ2ENSES 19,382 16,978 2,404
ONYFEIIHZA 212
34,610& * 821 x 64,118 17,753
onggss 17,998,000& * 0.0135 243
OFal=i==-k=1 17,998,000& * 0.024 432
OdHEE = 17,998,000& * 0.008 144
Oo=ad3 17,998,000& * 0.045 810
201 BtEAY| 101,920 85,929 15,991




SN WD
HE: ZHGD Y MHME 29
o9l DHoID S MY (5 &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
01 AtR22lt] 69,520 67,090 2,430
Oler+gHl] 69,520
O FEAIIA T A 61,200
OFEUINAASL4E
6,000 * 16,0002 * 50% 48,000
OFEUINAZA B BRhIHE M
80,0002 * 210 1,680
OFESUINATAN BE YABHE
50,0009 * 120K * 23l 1,200
OFUINABANNE E2E HEAUNE
3,00020 * 2,00004 * 50% 3,000
OFESUIIATALE QI 60 * 20,0000 1,200
0 F 24012 M E A 602! * 10,0000 600
OFEINAAYSNE Y
902 * 13,3300 1,200
OMEEEIIA SoIHH
12,0008 * 360% * 28] * 50% 4,320
OThAHAl 22l 8,320
OTHATAI EREHIE M
80,0002 * 22,750} 1,820
O THATAI SDOCRDIIA (=8) 7
60,0002 * 408t A + 2% 4,800
OTHAKIE D LN ST
50,0009 * 108 A 500
OTAAl HEOY 21 M
30021 * 2,00004 * 23| 1,200
;2 ZT2Y) 32,400 18,839 13,561
Ol2223 2 HAll 32,400
OTHAH DXM 28 B2 28,000
oS 2l 1,7502! * 5,0002 8,750
og g 2502 * 77,0001 19,250
OFESIIALYSNES B W
2502 * 17,60021 * 23 * 50% 4,400
202 Ol 600 0 600
01 =UHoIb 600 0 600
OAS U JIESAH ADIEEHTAH(RS)
50,0002 * 291 * 62 600
AWE FHBAN E2 115,940 %, 602 21,248
SoE s el 115,940 9%, 602 21,248
[




SAM: MR
M ZEGtD FHe MME 29
thl: HFE ZAHEMN &2 (Ste: &
S - B (FH) - NBEAIY - BHA2 Al OH &EIE Hon=2
BN B O - HSAY - B2 Sh Of] &F o8 e
101 124l 12,460 2,612 9,848
10 JIZHHZ22sSEs 12,460 2,612 9,848
OXATHEI = Eel
34,610& 221 * 30.01 2,078
ONSHFFel ¥ Z2IALY ARy
34,6103 * 201 » 135.01 9,346
OCLNESBER 11,422,000& = 0.0135 155
OHZEE= 11,422,000& = 0.024 275
OHHEE = 11,422,000& = 0.008 92
Oo=2H3 11,422,000& = 0.045 514
201 eIy 102,380 92,080 10,300
01 At 2t2ldl 97,380 72,000 25,380
Olgers=gHl] 88,500
OJINAHL B2
1,250,000 * 2024 25,000
OFXLE 028 20,000& * 50024 10,000
OSINHSH HE 2AXH BA+42
500,000& * 204 10,000
OSHHISRA MHEEEEE=
20,000& * 15021 * 13 3,000
OHZTHAM QI 5,000& = 7002 3,500
02008 ML HIEZALA Q4
110,000& * 50% 5,500
02008 MAMEZ4LN SEHF QM
110,000& * 502 5,500
02008 MHREDABSIHAMNEEST=Z
15,000,000& * 12l 15,000
02008 MRPEDA QI
100,000& * 1002 10,000
OSEZELE SS4E2 7Y
100,000 * 54 = 23| 1,000
oleg+¢] 8,880
OZMTARARA T
100,000& = 32! » 20 6,000
OHotaolPI G B
2,880,000 = 14 2,880
02 =229l 5,000 20,080 A 15,080
O[AIE &Hl |X4l] 5,000




M R
M ZEGtD FHe MME 29
thl: HFE ZAHEMN &2 (Ste &)
_ . dEE =
SH-EFHHA(FA) - NIRAE - BES O AFH Ol AF o8 Hws2
OHSL2AILEAMMIZ NSRS E4H|
500,000& » 102 5,000
202 OiHl 1,100 0 1,100
01 =Wobl 1,100 0 1,100
OMEed & 2 =Y &8P
100,000 * 29! » 3 600
OSAR)| MRIAMSER
100,000 = 1Q! » 5& 500
S=HQ THarzae] 1,896,328 4,714,235 A2,817,907
=37 Matzel 630,504 1,376,504 AT746,000
=SR2 630,504 1,376,504 AT46,000
101 o124l 10,314 9,730 584
10 JIZtHZ2Z2NASEs 10,314 9,730 584
O=232 M EXHR 012
34,6102 * 221 * 136.66Y 9,460
(OME=18-: = 9,414,000& * 0.0135 128
OHLBEZ 9,414,000& * 0.024 226
OdMEE R 9,414,000& = 0.008 76
Oo=2H=z 9,414,000& = 0.045 424
201 L3 73,450 19,932 53,518
01 At 2t2ldl 71,950 18,432 53,518
Oolger=g4l] 71,950
Oz Ma2e Ltz 2 XA 2
M 50& = 10,0004 500
O3B FMA MEHEZALE 50& * 10,0000H 500
O=ZF M MASH MAAEZT] 2
25,0003 * 30t A 750
OZZFMA 2 dHE IR
150,000& * 4024 6,000
O=2B7MA BRAE ZE=Y 5
100,000& * 7024 7,000
O=2Z27M4 2eld NES)| &=
=3 1,200& * 1,000 1,200
O=2=FMa HIISI| =2
12,0002 * 50024 6,000
OMEAMNRA Z2A X2
50,000,000& = 1A 50,000
02 =329l 1,500 1,500 0




N BT (3H) - MEAIY - B2 A} OH &EIE Ho=2t
o= T ° . [= Bl e =5 O:H{ﬂ,% Lsa
O[AIE&Hl &Xdl] 1,500
O=sMatze AZERNH FAHI
375,000& * 43| 1,500
401 Al&BIZL20HYI 346,740 1,346,842 A 1,000,102
01 A&l 346,740 1,346,842 A 1,000,102
ORHACSH BREM XY L BN
]l 300,000,000 » 14! 300,000
OSHUNDA FUE U 2ELX K
46,740,000& * 14 46,740
405 Kt SHI 200,000 0 200,000
01 Xt =SFHSHI 200,000 0 200,000
ONMS ML A 2|
200,000,000& * 14 200,000
HES FA2IE 1,265,824 3,337,731 A2,071,907
MAIEE 2tel 1,257,424 3,329,331 A2,071,907
101 eIAH| 9,092 7,666 1,426
09 SIAHAZZ2XNES 1,200 1,200 0
OFgdels &5 100,000& * 29! = 23| 400
OHEARE HESE 100,000 = 4Q! = 23| 800
10 JIZtH22AHSE 7,892 6,466 1,426
OBAZEH HEXY ol2l
34,6103 * 1721 * 2 * 43| 4,707
OBAZZ 22 @HoIRY
34,610& » 721 « 22 « 33| 1,454
OFAL & 2019 & &2 2R
34,6102 * 421 = 3 x 4,1673] 1,731
201 L3 478,472 400,245 78,227
01 AtR2teldl 62,260 31,610 30,650
Olgers=gdl] 62,260
OZAE P Y U M) 1,600
od+ ¥ &4 ANEH 100,000& * 63 600
od7 ¥ &4A [eid| 200,000& * 53| 1,000
OF D] Zeldl(ZA, gx4)
150,000& = 3CH 450
OFEA HEFAUEE 7L
120,000& * 5& = 102l 6,000




M THR
. SE8XH0l Tjate
CHRl: D ES HAIRE (ctel- e
_ _ SN E N
2N -3 - c2(3H) - NEME - HES Ol & Ommgg Hns
OFANAYMNNMAEH i3 SAIES
1g, S8 LEH 13 500,000& = 12& 6,000
OEANEFLES ¢ 300,000& * 63 1,800
OZA HAE 23 MY D 28 Y =
=E5LE 3,550
0204 3008 * 20004 * 753 450
05014 7503 * 20004 * 1403 2,100
0100 ¢ 1,000,000& * 14! 1,000
O&EA e HEH A
150,000& * 30& 4,500
O HAIS S 22|
300,000& * 2J44 * 8 4,800
OXANROIBAIAH 8H HAZ(2H,
Ha ES55) 1,333,300& * 12& 16,000
OMI|GHMEY s ==2(23)
416,660 * 12& 5,000
OFIIGHEEA HESL2(SH)
3,000,000& = 23| * 110% 6,600
OLNUINA OHEHA =22
80,000& * 23] 160
oXsSxY 2HIEI =22
250,000& = 40H 1,000
OEE2E HJIIZ HMalhl
500,000& * 43| 2,000
ONEX HIIBAMN =42
35,000& = 80CH = 13l 2,800
02 332gH| 416,212 368,635 47,577
Oo[s323 % HAI 280,576
OoAgorM 22| &3l 240,000& * 13 240
O BE3(ANEE, 2EXY)
8,500,000& * 13| 8,500
ofIANE2(2E, 22, 553)
110,000,000& = 14! 110,000
ONLTAES (2, 82, 555)
11,000,000& = 14! 11,000
OXNSXM(ESIS 800H)
5,500,000& * 23| 11,000
OXNSXANEEHZ(EEIS 80UH)
28,000,000& = 13 28,000
OZZH A Ma=73H|
111,836,000& * 13| 111,836




SN MR
HM: SEHO JHatze
el AT FARY (A2
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
Ol¥2H]] 53,056
OZJ1222 29 (2M)
50,000,000 * 14l 50,000
O%9a U2 2H(AH)
823.58 x 7.964 * 81 532
O=XAl DA BREBUY
873.752 » 7.93540 = 40§ » 91 2,524
O[AIEZHISXIH|] 39,580
OH=EE S Z2H(=2E, g2, &=
=) 5,500 = 4,181.81m’ 23,000
OB UHAA CHHI 2=
2,000,000 * 2CH 4,000
OZ=gn &2 S22l
400,000 * 128 4,800
ONOZHIIATUY HEHFHA
60,0002 * B63CH 3,780
OBz U g 283 XGtHEE FA(
==z ILE 2,000,000 * 23] 4,000
OlRtE - Hdetd]] 43,000
OXZTSXH L S20
43,000,000 * 1A 43,000
206 24l 8,820 8,820 0
01 24 8,820 8,820 0
OZHA & ASH| 146,660 * 93] 1,320
OFAIER L 25 2otA Q) 7,500
o8z Z»BtA 9
10,0002 * 10500 * 63 6,300
OFAMNEE $EH7 100,000 * 123 1,200
401 AlSHIL20HY] 618,440 2,581,000 A 1,962,560
01 Al&H] 617,000 2,545,000 A 1,928,000
OIEA 225 22 HH|AY
100,00024 = 800m* 80,000
O A 225 2 FHI2TA
75,0002 * 400m 30,000
O HAL 225 ABAARA HES
75,000 = 3,333.33m 250,000
OZ AL 22 ABAARA HIHEA
bl 3,000,000 * 9IH Al DFA 27,000
023l =235/9/% FHH L Q! =2
S XIZ A 200,000,000 * {14l 200,000




M IR
M S0 THarze|
ol ES HARD (A&

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
O=& 22 A 30,000,0008 * 14! 30,000
03 Al&SCHHl 1,440 2,000 560
O9l5|E =25|o/& Hy|l L 04 52|
SXZA 2] 200,000,000 * 0.72% 1,440
405 THaE S| 142,600 331,600 189,000
01 RALSEF S| 142,600 331,600 189,000
OSH #FNY 7U(SH, st M3,
0le) 17,000,0008 * 4CH 68,000
OS% sy 2L (HRM)
38,000,0002 * 1CH 38,000
OB A2 YHZERY 800,0002! * 3% * 43 9,600
OLAD oozt B 3,000,0002 * 3CH 9,000
Oslojal mapel 400,0002! * 257 10,000
O&D AR FI| PU(YX, HAS)
500,0002! * 8% * 23] 8,000
S o2 pel 8,400 8,400 0
202 OiHl 2,800 2,800 0
01 =Uioil 2,800 2,800 0
OF A, 245 282 MSHs &0
80,0002 * 359! 2,800
CONRTEICPC= 5,600 5,600 0
10 BAAHIZAS 5,600 5,600 0
OF A, 2A% SHANE WSUHS
80,0002 * 709! 5,600
S AR 515,496 715,384 199,888
SO AR (SHAR) 515,496 715,384 199,888
S Maze 2y 515,496 715,384 199,888
201 Ler29y| 195,496 182,270 13,226
01 At=Rarelt| 18,540 16,695 1,845
Olger+gH] 18,540
oSH o By 7Y
545,45420 * 1150 6,000
OMES NRERA 29
800,0002! * 128 * 110% 10,560
OMBES MEERA MINTFALLE
150,0002! * 122 * 110% 1,980
02 ZZ2YH| 176,956 165,575 11,381




S M2

M SEE A2

ool SS9 MHarze(SHAR) (el &)
_ _ _ Muo
SNBSS - MEAY - BES 0l &k o4 e HlnE2
Olz2322 ¢ HAI 87,826
OsH AN MIRB
5,454,540 » 118 60,000
OSY EAM &k 2=
50,000 » 11S® = 128 » 121% 7,986
OSHAIRA R203H 29|
123,000& * 1189 ~ 128 » 110% 17,860
otlsg MEEZA RoFH AAE 2
2l 150,000 = 12& » 110% 1,980
Oo[ezhl] 16,115

823.58% « 6.0184 * 462 * 1158 2,508
0SS QRN UZ22Y(MSE NEEE

924 * 508 + 125H 3,420

OSY HESE) IHs(M58 NREH
A HEH
823.582 * 9.8164 * 1052 » 1289 10,187
O[A&EEHISXIH] 28,015
OFAb SXIHI 28,015
oS 3,5008 * 1,075m 3,763
oMBg 4,000 * 756 3,024
oH & 4,0008 * 440m 1,760
o23H 4,0008 * 551m 2,204
odl=H 4,0008 684 2,736
NS 4,0008 = 604 2,416
oEEH 4,0008 * 566 2,264
oA 4,000 * 682 2,728
oN&H 4,0008 = 561 2,244
0 &HAtH 4,0008 = 609 2,436
oDleH 4,0002 = 610m 2,440
O[XHg - &ethl] 45,000
OSY #HXY 29
400,0008 * 1182 = 128 = 85.227% 45,000
401 AlEHIZ 20 266,000 504,734 A238,734
01 Al&H 266,000 504,734 A238,734

OSASARAL S& AHHAX

5,000,000 * 14| 5,000




S M2
M SEE A2

ool S0 KARR(SHAD) (ctol & &

SA-EFH - SA(SAH) - MREAY - BES Off &F K glgaf; Hws2
ONESM2 HFB4
20,000,0002! * 14! 20,000
OLTPAIRL BAISA 5,000,008 * 14 5,000
OSHOANDRL 24 B2BA
28,000,008 * 14! 28,000
OS2I HAXIDX SXBA
5,000,0002 * 14! 5,000
OUSPARAL EXRZEIFBA
30,000,000 * 141 30,000
ONBSARL 28 WaBA
15,000,008 * 14} 15,000
ONBUARL BB L FHEY A
15,000,008 * 14} 15,000
OTEBARL o8 U =5
40,000,00081 * 14} 40,000
OBNSARL YATA
25,000,008 * 141 25,000
OB MBIALRA B HAI EXIBA
2,000,0008 * 14! 2,000
ONBEARL 5108 BFEEBA
20,000,008 * 141 20,000
ODIZBARA HA HTl &XIBA
6,000,0002 * 14! 6,000
OF dTLATL 22
50,000,000% * 14! 50,000
405 RrAHESH] 54,000 28,380 25,620
01 HMUSBFHSY] 54,000 28,380 25,620
OFTIZAI| 7Y (FSES)
7,000,008 * 1CH 7,000
OBN=ZAD| PL (45, MEETA)
7,000,008 * 204 14,000
OFT=ZAI| TL(RNH)
7,000,008 * 1CH 7,000
OFTIZAI| 7Y (A1)
7,000,008 * 1CH 7,000
OFXF=AD| 7 (0/2e)
7,000,002 * 10k 7,000
OASY QAR AT (AZH)
200,0002 + 1074 2,000
O34 BT 2 (01AB)
10,000,008 * 14} 10,000
HH2AZH (R D) 162,016 154,960 7,056
ol 2| 4,380 4,320 60
HRD el 4,380 4,320 60




2A: MW
. HYSIZH(MR2)
el ol 29| (ctel- e
= _ o MEE =
2N -3 - c2(3H) - NEME - HES Ol & @E% Hns
203 YRF=ZF Y| 4,380 4,320 60
04 ENSHLRFZAHI 4,380 4,320 60
OM=RY BEA2Y gRF&|
365,000& * 12& 4,380
&t 157,636 150,640 6,996
WEE D123l 36,715 34,320 2,395
201 LBtEAY| 26,635 24,720 1,915
01 ArR2t2lbl 21,735 20,700 1,035
Ol[geredd|] 15,750
ORNSIESUA 15,750,000 * 14 15,750
Ol=&hl] 5,985
ORMNSIESUA 5,985,000 * 14 5,985
02 =32ZH| 4,900 4,020 880
Ol222=2 ¥ HAI 4,900
ogeE &3 % F=3=4
2,500,000& * 14 2,500
OXI A SetE At & A2 2,400
oc=2sZMA 100,000& * 12& 1,200
oWeTaxAlES = 100,000& * 12& 1,200
202 (44l 10,080 9,600 480
01 =2WdbI 10,080 9,600 480
OFNM2Y YA 10,080,000 * 14 10,080
cl&g" J1=248h| 36,390 34,300 2,090
201 LBt 20,850 19,500 1,350
01 AtR22id] 20,850 19,500 1,350
o[geregl] 13,500
OFRANEYE SN 13,500,000& * 14! 13,500
Ol2gHl] 7,350
OFRANE2Y Y 7,350,000 * 14 7,350
202 O4Hl 15,540 14,800 740
01 =2WAbl 15,540 14,800 740
OFNM2Y YA 15,540,000 * 14| 15,540
== PA R =] 40,316 39,920 396




2A: MW

M HFSAFY (M)
ool D=2 (St &H)
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
201 ety 8,316 7,920 39
01 AFR22/H 8,316 7,920 396
Olger+=g4l] 5,292
ORNEY U4 5,292,0002 * 14| 5,292
Ol=&dl] 3,024
ORN2Y SUHA 3,024,000 * 124 3,024
202 OfHl 32,000 32,000 0
01 2O 32,000 32,000 0
ORNSY SHAA 32,000,000 * 14| 32,000
THat2A S D12 23,520 22,400 1,120
201 L2y 9,870 9,400 470
01 AFR22/H 9,870 9,400 470
Olgers=gdl] 5,985
ORAN2Y SN 5,985,0002 * 14| 5,985
Ol=2&Hl] 3,885
ORANEY SUHA 3,885,000% * 14| 3,885
202 OfHl 13,650 13,000 650
01 =20 13,650 13,000 650
ORNSY SHAA 13,650,000 * 14 13,650
DE2C JI=AY 20,695 19,700 995
201 Lty 9,735 9,500 235
01 AFR22/H 9,735 9,500 235
Olgers=gHl] 4,935
ORANEY SUHA 4,935,000 * 14| 4,935
Ol=2&Hl] 4,800
ORANEY SUHA 4,800,000 * 14 4,800
202 04l 5,460 5,200 260
01 20 5,460 5,200 260
ORNSY SHAA 5,460,0002 * 14| 5,460
405 XA SHI 5,500 5,000 500

5,500 5,000 500
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2A: MW
. HYSIZH(MR2)
o J2El

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
OMEFEIIH coERH 7Y
11,000,000& = 1CH = 50% 5,500
HRES(HR) 114,576 69,000 45,576
28X E 114,576 69,000 45,576
K &gt 114,576 69,000 45,576
311 XS 0IAtae 54,576 9,000 45,576
03 SaSSII2XLS0IAH4e 54,576 9,000 45,576
OJIEtZ XY 3 &&0I Xt 54,576
OZ&EA EBIJI= Ol &
47,375,340 * 14 47,376
O=sgllsdH EHlJl= OIk
7,200,000& = 14 7,200
601 XSS 60,000 60,000 0
04 SLEEXNUSESE 60,000 60,000 0
OJIEt= XL S & 60,000
O=sgllsdH EHlJlza &3
60,000,000& = 14 60,000




